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Graph the quadratic function, then state the axis of symmetry.

‘1- f@=@+5? V:65,0) 2 fx)=-(x-67+I ((o,l)

3. f(x)=%x2—4
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Axis of Symmetry: X=-5 Axis of Symmetry: X = b Axis of Symmetry: X=0
,,‘,,;,7*7 A i I B 0 B N 0 N O B B P i1 1N EEE
T EEEEEER g 5 B NE
N sHEERSaRcin N
ks nE RN & BB b= 1 N ,1
1] T m

|

1

# o8 , *_
|
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Write the quadratic function in vertex form.
7. h(t)=1> -6t 8 fx)=x"-4

:\ 2-
)= X -4
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Find the range of the quadratic function.
1. f(x)=-x"+6x+7

ng 54.\(03

9. g(t)=—1>+6t+1
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12. -A(x)=2x*-9x+10
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10. h(x)=3x*-10x+2
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Find the zeros of / and the x-intercepts of the graph of /.

13. f(x)=x>-10x+16 4. h(x)=32-Tx-6  ~I§
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Find the minimum or maximum value of the function. State whether this value is 2 minimum or a maximum.

15. g(t)=~1*-61 16. f(x)=-x*+10x-3  17. f(x)=3x"+x-1 18. g()=5*-41

19. Soccer Ball Kick: The height A(f), in meters, above the ground of a certain soccer ball kicked  seconds

after the ball is kicked can be approximated by A(f) = —4.9¢° +12.8¢ . Determine the time for which the ball is in
the air. Round te the nearest tenth of a second. .

’t=2.65J
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20. Height of an Arch: The height of an arch is given by: A{x) = —ax‘ +27, —24< x<24 where

horizontal distance in feet from the center of the arch to the ground.
a. What is the maximum height of the arch?

b. What is the height of the arch 10 feet to the right of center?
c. How far from the center is the arch 8 feet tall?

0. 27 Feek
b. 22.5\ Leet

C. 20. | feek $rom e center
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